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INSTRUCTIONS FOR CANDIDATES wenfRial & forg fAder
1. The Question Paper consists of four sections : 1. WeT-U% ¥ AR UNT ¥ : WNI-a7 AR avgar % 50 e

Section-A Mental Ability of 50 questions (Q.No. 1 to . .
50), Section-B Teacher Aptitude and Attitude of 50 (7.3 1 9 50), wrI- frers arfderar w@ sfgfy & 50
questions (Q.No. 51 to 100), Section-C General 99T (9.9, 51 ¥ 100), WAI-§ WA SIS 5 50 F97
Awareness of 50 questions (Q.No. 101 to 150) and . ’ . .
Section-D English OR Hindi of 50 questions (Q.No. (39 101 ¥ 150) 3R WAI-g SISl sremam RS & 50 e
151 to 200). (.4 151 & 200) |

2. Write your entries like Question Booklet No. and 2. 3N.H.IIR. SWR-UFAH R 3T FeA-GRRIBT F. TAT WAT-7

Subject selected for Section-D etc. very carefully and 2 T favg onfe wfafet waurigds ford ok wafta
fill the relevant circles on the OMR Answer Sheet. el @ o |

3. For filling the OMR Answer Sheet and darkening the 3. JNL.GA.R. SR-TF § Ffd STHSRI T Ml B WA S
circle use Blue/Black Ball Point Pen only. fory et Hiet /STt diet uTse U BT STANT N |

4. Answer all questions. There will be no negative 4, {ft wel & SR AR | HoTCHS 3BT TS BT |
marking.

5. 3 marks are allotted for correct answer of each 5. R 3, §, T F TS UeT & Wal SR & forg 3 3id v rr
question of section A, C, D and 3, 2, 1 and 0 marks ‘g’ foreror gy & W SR 8 AT TG HAW 3, 2,
are allotted respectively on preference for correct . .
answer of section ‘B’ Teaching Aptitude. 1 03H AR |

6. Each question has four alternative responses marked 6. TP UeT & IR Jhfedsd IR A W &, R s A, B,
serially as A, B, C, D. You have to darken only one C, D 3ifda fram mar & | arweff @1 v oW Aifde & T
circle or bubble indicating the correct answer on the ST W AT TP TS ST qEE B SIR-TAF W At/
Answer Sheet using Blue/Black Ball Point Pen. [

Darkening more than one circle would be treated as alet Gige O & TEV A & | 0 W i fAded oy e
wrong answer. Y TR A HIT STE |

7. If there is any sort of ambiguity/ mistake either of 7. afy Rl mew F Rl v B D gewr a1 TRATHS THR

printing or factual nature then out of Hindi and faet g
English Version of the question, the English Version & ar iR = i
will be treated as standard. TR A1 BRI |

8. In case of missing pages, missing questions or any 8. WeT-YfRTehI ¥ U8 BH, HeT WA B9 AT 37 fahedY oft qgor
kind of printing discrepancy/defect in Question .
Booklet, candidates may put their objections to AW &N W anRlt 5 e # dew & wwe sl v

invigilator within 5 minutes and obtain another T WeT-GfRIST OTH FR A |
Question Booklet.

Do not open this Question Booklet until you are asked to do so. / 38 T —Yftieht I T ek 1 Wict &l qeh hgl 7 T |

o PE wmKke
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Section-A / 9IT-3A

Mental Ability / & JrId1
1.  Choose the alternative which closely | 3.  The film director wants an actor for the lead
resembles the water image of the given role of Lucky who perfectly fits the
combination. description that appears in the original
39 et o1 == i il T 71T TSH : screenplay. He is not willing to consider
T B EAAE | actor who do not resemble the character as
BK50RP6 2 he is described in the screenplay, no matter
how talented they are. The screenplay
(A) BXR20KBb9S (B) BKSO¥bes describes Lucky as an average-sized, forty
(C) BK20MbES (D) BK20KbLES ey sk, and & brllant Smhie. “The
2. In the question below are given three castine acent has four actors in mind
statements followed by three conclusions I, A cto‘g % is a stunning red—haired
II and III. You have to take the given handsome who is 5'9" an% in his mid-
statements to be true even if they seem to twenties age. His eves are brown and
be at variance from commonly known | he has an (%h\}e o }iexion
facts. Read all the conclusions and then | Actor 2 : has red hai;np deep brown eves
decide which of the given conclusions and a fair complexion. He is inyhié
logically follows the given statements, mid-forties ang is 5'5".
disregarding commonly known facts. Actor 3 : is 54" and of medium build.
Statements : All schools are colleges. He has red hair. brown eves. and is
Some universities are institutions. in his early forties. yes,
C I\IIO school is university. Actor 4 : is a blue—eyed, red head, in
onctusions : e his early thirties. He’s of very slight
I. Al qgl%'eges are universities is not a | build and stands at 5'
possibility. Rrem s :
II. No college 1s university is not a ! - RIS 'ﬁilﬂ; %B%Q@
possibility. HHAAT =8 2 S 4ol e H femrs o
III. Some institutions are not schools is EIGACEIVR:] ‘{ﬁ qai Sed1 8 | 98 Q’@
not a possdibilitt‘yl.1 FTTAT O foreiR shtd hl R <18l @ ST 39
A) Only I and II follows. afT § fied-
ng Only II follows. 1}. AT Tl e s 5 SH
C) Only III foll qeehY1 H df0T foh TR B, =g 98 feher
(C) Only ollows. y
g’r\D%)t Only I and III follows, oft Sferemeft AT 7 81 | Ieher Tehl ol Th
mﬁﬁﬁ%qw%;ﬁtw%a%ﬁ? ﬁaﬁm,m—qﬁj&r%wﬁﬁw, W%IW
SRS 1, 11 3TR QU R | 3t fog e 1T, el S JA, S5 MY = 3 Th
e bl A F & Vel S Fe o & Wgﬂ % Eqagg affq st 2 |
Tt refia Bl &1 | Tl et o 96 37 o HIFET Tole % fermT # TR heABR R 2 |
T & b fgu e frsmat § 9 o @1 9w APAAT 1 : TF TR I STl arel
T AT <ht el L §T, Teu TTT et FoEm 2 S 59" I § 3N TE W
ifeheh &9 & STTET R € | ey AT a9 § § | 35 TS o 3
Fe ; Tl Tl FIO € | : 3 3T T I 2 | N
HEAT & | IS TRt TR | aﬁﬁ%zgamgﬁﬂsﬁ@a@aﬁ
. . TTe |98 e FTeA1ed
. & w%a%rlﬁaﬁﬁ 8 W T %ﬁtS’S"ﬂgﬁ?{l 5
qurE AT 3 : 5'4" 3R AL Hehd! i 7 |
II aﬁéw@a;ﬁaﬁﬁqﬁé,%@ 3G AT a1, i S ¥ 3R 97
BUEATARIE | 3T TR A au H 8 |
11 WWW“@%’%@W ARAAT 4 : 39 IREEE dee 9¥ §
: Fieft SAtEl areT Tt Sret 9o § | 98
(A) éaalaﬁtnaqgamg‘{%%l S5 TTel) hehidl i 8 35 HE |
% éaaglaﬂamm%ll (A) 1,2 (B) 2,3
(D) e I 3T 1T SR L & | ©) 3,4 (D) ;%p%%g%h%/
MKP o
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Soham has invited his three friends over
to watch the football game on his wide-
screen television. They are all hungry,
but no one wants to leave to get food.

z the time they are arguing about |
who should order the food, a |

commercial comes on the television

screen for a local pﬁzzerla that delivers
izzas at home. The phone number
ashes on the screen briefly and the all

try to remember it. By the time Soha

grabs a pen and paper, each of them

recollects a different number.

#1: All of the men agree that the first

two numbers are 67.
# 2: Three agree that the third number is 2.

#3: Three of them agree that the fourth |

number is 4.

#4:Three agree that the fifth number is r

greater than fourth number but less
than sixth number. '
#5: Three agree that the sixth number is

6; three others also agree that the |

seventh number is 8.

Which of the numbers is most likely the

telephone number of the pizzeria ?
(A) 6726548
(B) 6724568
(C) 6724758
(D) Insufficient Datiﬁ

:m%ﬂméﬁaﬁsﬁm 8.%

4 i 212 st 7 S e |

61 g8 3k U B 2
(A) 6726548 (B) 6724568
(C) 6724758 (D)

Mahesh is working with a friend to find
a location for the toy store he plans to
open in his town. He is looking for a
1pTlace that is either in, or not too far

om the center of town and one that
would attract the right kind of foot
traffic. Which of the following locations
should Mahesh’s friend call to his
attention ?

(A) A storefront in a new high-rise
building near the train station in the
center of town whose occupants are
mainly young, childless
professionals who use the train to
commute to their offices each day.

(B) A little shop three blocks away
from the town’s main street,
located across the street from an
elementary school and next door to
an ice cream store.

(C) A stand-alone storefront on a quiet
residential street ten blocks away
from the town’s center.

(D) A storefront in a small strip mall
located on the outskirts of town that
is also occupied by a pharmacy and
a dry cleaner.

TR Ueh I oh U1 hTH L &1 & d1ih 98
O @ H RaedHl g @ieH 6
aﬁwwaﬁzlas@@ﬁwaﬁm

H & ST AT Al SEL S hg H & AT WY S5

A & 3T T HE TR b Tee A bl
awﬁaa%lﬁmﬁiaﬁﬁﬁ%awﬂw
TR o 0T i IGehT SE 3Tehidd il

MY ?

(A) Y& hg H ¢ RIE o UE Th T3
ﬁ?wﬁ@maﬁaﬁt
dTeil G (%l{»b@,ﬁgfrl%ﬁmﬁ
T &9 § a1, F-9a9 e € 5
T fe 319 SRIferl | I @ ferg
T HISTITHA L |

(B) & Sl G TSH | dF cAlh ¢ Th
Bt = gpM, T WAftes e &
TS o 39 IR 3R Teh MEEHT ht
GohH < STTeT H @ 2 | ’

(C)W%%@EW%@@W
HAEEHT HSh W Teh - 3T
WL | .

(D) &L o STedl seirh H Ud T Bie
feou ofe o e withe e s garg
1 GM IR IS FAR T i Hosll 2 |

MKP
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While travelling in a Haryana registered
commercial taxi from Haryana to an
adjacent city (another State), your taxi

driver informs you that as he has no permit
for running the taxi in that city, he will

stop at its Transport Office and pay the
prescribed fee of ¥ 50 for a day. While
paying the fee at the counter you find that
the transport clerk is taking an extra I 50
for which no receipt is being given. You
are in a hurry for an office meeting. Under
such circumstances, what would you do ?

(A) Do not interfere at all as this is a |
matter between the taxi driver and the

tax authorities.
(B) Take note of the incident and

subsequently inform the matter to the |

concerned authorities.

(©) Go up to the counter and ask the clerk
to give back the money which he has |

illegally taken.

(D) Treat it as a normal affair and simply
forget about it.

BRATON Tofichd SEEReh Sodll H ghemm &

A 6 W& (G T) H IET Hd T,
STIRT STt Teish TR aﬂ?ﬂ%ﬁ;
3Tk U 39 IR H ST I hI e
TE B, T8 IHeh NS hiEeT™ H BehiT 3T Ueh
ﬁ?%ﬁ%ﬂ? 50 e gjeh 1 A |
I3 T od 9 39 UTd & foh qieeT
Fefeh T 50 TR o &1 & Foeeh! <hiE Wie T8t

QTR | 3 3R AR 3 o e |

2 | U aifefomt 1 st sy 2

(A)%@an&w&%%ﬂg
ﬁwaﬁwﬁeﬁ%aﬂaaﬂ

umw%w

(B)thwméaﬁtmﬁﬁmg

JTyeRTRE bl HIHeT 1 FAT < |

(C) T T T 3 A & 36 A A |
AT 3 o ot 22

YU E |

(D)sﬁwwqﬁaﬁtmaﬁﬁ

T T |

MKP

You are a Professor in a University and
are setting an examination paper on a
particular  subject. One of your
colleagues, whose daughter is preparing
for the examination on that subject,
comes to you and informs you that it is
his daughter’s last chance to pass that
examination and whether you could help
him by indicating what questions are
going to be asked in the examination. In
the past, your colleague had helped you
in another matter. Your colleague
informs you that his daughter will suffer
from depression if she fails in this
examination. Under such circumstances,
what would you do ?
(A) In view of the help he had given
you, extend your help to him.
(B) Report the conduct of your
colleague to the higher authorities.
(C) Explain to your colleague that this
would be violating the trust of the
University authorities and you are
not in a position to help him.
(D) Regret that you cannot be of any
help to him.

Y U fogafaame™ 7 T 8 3T T
forie forwg ot wh W T AR R R
IATIhT Ush Haeht, fraeh! st 39 fowg i
TheqT <t qTl B T 7, ATk I 3T &
3TN 3! Fiaa har g foh I8 ITehl
o UTE T I R Rl ARG ik 3
SR T 3T I8 TR IHeh! AT T Hehd
£ 1o oen § 9 4 9 @ 99 91 § |
Td H 379k TEehH! A TRl 3T Aol H
HTh! Heg i ol | Tk HgehHi + FATTH!

(C) 394 TEarfl w “wemd fo uE
Tervaferenea & stfepiiat & fovem
T Ioolod BT 3T AT 3Heh! Heg
HE I FRAGTTE S |

(D) UsSdmET il fob 39 35k fou 18
Tee T8l o Tehd ¢ |

O
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In a question given below there is a
statement followed by two assumptions
numbered I and II. An assumption is

something supposed or taken for granted. :
You have to consider the statement and i
assumptions and then decide which of the

assumption(s) is/are implicit in the
statement. You have to consider the
statement to be true even if it seems to be at
variance from the commonly known facts.
Statement : The school has decided to
rusticate such students from the school
who is creating violence and not
following rules in the school.
Assumptions:
I

By rusticating students from the |
school those students will never do !

such things again in the future.
II. This action leads to discipline in the
school.
(A) Only assumption I implicit.
gB Only assumption II implicit.
C) Either assumption I or II implicit.
(D) Neither assumption I nor II implicit,

| %+
o R T s
o =0 8

(B) YT 11 2|
JaTEd g |

(C) AT &R [T 11 37
(D) 7t &ron [ 3 & 11 3z 2 |

If in a certain code

same code language ?

Ffe fopeft ffeaa e w1 § EQUATION
7, TI 3 e 9T § FORECAST i el

%l ZFJVMLRG & &9 °

SHeslg TR STQ 2
(A) EROFTSAC
(C) EFORSATA

(B) ULIVXZHG
(D) VILUGHZX

language
EQUATION 1s coded as ZFJVMLRG,
then how i1s FORECAST coded in that :

10.

11.

Find the missing number in the given
series following the same pattern.

29Al, 3CL8, FO47, 56JR, ( ?)
(A) 50U6 (B) 6NV5
(C) 50V6 (D) 60U5

Read both the statements and decide

which of the following answer choice

correctly depicts the relationship
between these two statements :

Statements :

[.  The car manufacturing companies
have recently increased the prices
of mid-sized cars.

II. The Government recently increased

the duty on mid-sized cars.

Statement [ 1is the cause and

statement II is its effect.

Statement II is the cause and

statement | is its effect.

(C) Both the statements I and II are
independent causes.

(D) Both the statements I and II are
effects of independent causes.

ST SFT I U¢ 3R aF B fob Frmferiaa

T ¥ BH A1 IW fahed 379 A1 HUAT

S Ty I Tel & § gl §

DY

1. &R fmi a3 g« € 4 vem
TR 3h1 ST <hi Il H Jig I 7 |

[I. TR 7 8 & H 0 3R 6l
IR T I SR & |

(A) T ] HROT g 7 HUH 11 FHHT THTe
gl

(B) gm 11 SHRUT & 37 H | SHHT THTe

|

(C) YA [ 3T 11 HT Foras R |

(D) &2 1 3R I gHl W RO
JAE % |

(A)
(B)

MKP
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12.

13.

A company needs to decide whether to
invest in a new technology platform or to
continue using their existing platform.

Which factor should the compan;r consider

most when making this decision

(A) The potential benefits of the new

platform.

(B) The compatibility of the new
platform with existing systems.

(C) The cost of investing in the new
platform.

(D) The potential impact on employee
productivity.

Teh U1 ol IE T i <h STETIHT & b

GJP@FHQ EERCRECH I

qw?%%g v st Ao

(A) 7T T % qTferd Ay

(B) TINIGT TEreeH o |1 U 5 <hi 3Teherd]
(C) g # fiew 6t @

(D) HHARI IcaTEehdl T AT THTE

Six books - English, Hindi,
Computer, Maths,

Science,

than only two books. English book

contains more pages than Science book
but less than Sanskrit book. Science ;

book does not contain least pages.
Sanskrit book contains fewer pages than
Hindi book. The book which contain
third lowest pages contain 28 pages.
How many book(s) contain more pages
than Science book ?

(A) Four (B) Two
(C) Three (D) None of these
B w - 3Ta‘_’ﬁ’ %a’ ‘%Eﬂ:[, EF’Q:L?I’

T 3T Thd Teh § ITRT-3TeT g8i

e § fosme i

3 | 98 qEaeh T e To w9 98 &,
IEH 28 B F |

I8 8 ?
(A) W1 (B) & ‘
(C) (D) ¥H & PIE T

MKP

EXCIRSIRECCINE
éﬁamqmmﬂaﬁﬁm1mn$ ;

and Sanskrit each
contains different number of pages. |
Computer book contains fewer pages |

ocrfl e i Fa 1 e & o |

14.

15.

ﬁm%l%%\aﬁgw%ﬁ%dma 16

Waﬁwﬁmw@%%lmaﬁé
T § A AHA |
TEhd h! J&Ih § HA I8 3 | fomm & |
T B G980 I § | Gepd
gEi e 1 G h1 gor § FH B |

In below shown figure, count the

number of triangles :

<fra e e o, Bt bt e T -

(A) 26
(C) 28

(B) 27
(D) 30

From the given answer figures select the
one in which question figure is embedded.

& TS 3T 3TRfer | F 38 g s e
ATl wf=fEa ® |
A\ 1
/ |
~ |
Al
{/
w7 N | e
24
©) /| L D) K

Choose the alternative which closely
resembles the water image of the given
combination.

39 faehed <1 =9 ot 11 feu e gaieE <
A B H I |

GR98AP76ES
(A) CH38Vb\GE2

(B) CHB68VbAYER
(C) CYaBVbA9E2
(D) CH38AbACGES
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17.

18.

19.

Select the alternative which represents
three out of the five given below figures
which when fitted into each other would
form a complete square.

39 Taeheq &1 ==[

w@%ﬁ?{@aﬁﬁraﬂuﬁﬁﬁqam%ﬁ
@-@ﬁ%ﬁﬂ@@%ﬁaﬁ{(ﬁ)
EEIE

»D oD

8 B 1

345
125

From the given answer figures select the |
in  which question figure 1is |

one
embedded.

ehfaa § 9 39 R
i%éﬁwaﬁ%% 2 e o

B

L

(B)

(A) A\L g
AN\ ot

Read the following information carefully
to answer the question given below :

(1) M * N means M is father of N.

(1) M — N means M is sister of N.

(111)) M + N means M is mother of N.

(1iv) M/ N means M is brother of N.

©

In the expression Q + D * P/ N, how is

P related to Q ?
(A) Grandfather (B) Grandson
(C) Daughter (D) Son

M T B W
Frataiaa sHeerl =
() M * N1 318 8 M, Naﬂﬁm%|
(i) M — N7 31T & M, N bl 9 2 |
(111)M+N7=|'T[31?§%M,Nﬁq'lﬁ'f%l
(i(VyM/NHTAIEM, NHIIER |
25 Q+D*P/NH, P, Q¥ ol
et 8 ?

(B) Hrar

(A) TIET
(C) s& (D) eI

St = @ e i |

% fre

20.

21.

In a town of 400 people, 185 speak
Tamil, 165 speak Punjabi, and 160
speak English. 40 speak both only
English and Tamil. 20 speak both only
Punjabi and Tamil. 10 speak both only
English and Punjabi. How many people
speak onlgqone language ?

400 ST <6 Teh R H, 185 MU SIeTd &,
165 ToTe SIed §, 3R 160 ST ST
£ 40 Fae 3 3R AT S AT B |
20 hae TSTTel} 3R it gHT Sierd @ | 10
hael U 3T ITs ST Sietd @ | fehad

TN Shelcl Teh {TST SeAd & ?
(A) 310 (B) 201
(C) 210 (D) 301

Point B is 7 km to the west of Point A.
Point C is 12 km to the south of Point E.
Point A is 5 km to the east of Point C.
Point D is 8 km to the north of Point C.
Point G is 6 km to the west of Point D.
Point H is 14 km to the south of Point G.
If Shubham is standing 6 km to the east
of Point H and takes 1 hour to complete
6 km distance, then in what possible
time he would reach Point E, if taken the
shortest route ?

(A) 120 minutes

(C) 1 15 minutes

(B) 180 minutes
(D) 159 minutes

T 2, A e fray T § fig B wg,

mwﬁsamw@fﬁaw%mm?
(A) 120 fime (B) 180 fiie
(C) 115 fime (D) 159 fie

Find suitable answer in place of question
mark.

JeaTEeh g o T T 3UTH ST glev |
16:22::36: ?

(A) 43 (B) 26

(C) 53 (D) 46

MKP
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(Q. No. 23 and 24): 8 persons from A to H sit
around a square table such that 2 persons sit in

the middle of each of the sides. The persons |
sitting on one side of the table face the persons :

sitting exactly opposite to them on the
opposite side of table. A sits on the immediate
right of E. G faces the one who is second to
the left of B. 3 persons sit between A and G.
Two persons sit between F and D (when
counted from one side only), who is adjacent
to E. Only one person sits between G and C

(when counted from one side only). A is not

adjacent to F.

U.H. 23 T8 24) : AG HdHh & 8 ARk Th

TR T o T 3R 39 JohR 9ad @ foh 2 Sk
T ST % AT § §93d © | Al o T AR 3

HI 3N | A, Eh 3 TR §3T 2 | G 1 TG 30
ek 1 AR 2 AT B % o1 gEL M W3 | A
IMGHIT3 A AIE IFIARD F = Q

25.

The school principal has received
complaints from parents about bullying
in the school yard during recess. He
wants to investigate and end this
situation as soon as possible, so he has
asked the recess aides to watch closely.
Which situation should the recess aides
report to the principal ?

(A) A girl is sitting glumly on a bench
reading a book and not interacting
with her peers.

(B) Four girls are surrounding another
girl and seem to have possession of

her backpack.
©)

Two boys are playing a one-on-one
game of basket ball and are arguing

over the last basket scored.

(D) Three boys are huddled over a
handheld video game, which isn’t

supposed to be on school grounds.

TR o TIHTERE I HATEHRR & GRH

h &3 & (et Uoh O § fiH T W), S E < e ,
Frare & 1 G 3ik C 3 wor doen v e ST B | ?@%ﬁsiﬁgﬁﬁg
Sﬁ?{@ﬁf{@ﬁﬁaﬁmm,r«%ﬁwqﬁ e 1 i . 58 TR o e
3afcTT 35 TEATIHTI HERIhI bl AHh A
23.  Who among the following sits second to TEA o TIT HaT 3 | HEATIRT TG hl
the right of the one who faces E ? %&r@ﬁaﬁaﬁmmﬂqﬁﬁaﬁﬁaﬁq 9
Eéi 1(:: EE)) EitherCorD (A) Th TGl Teh e T T fehelTel T T
Frerferfiad & & % E 1 39 3@ oaf 2 3R gt et % wr sr-<ha
% g g S R A 2 TR |
(A) C (B) D (B) IR wiefhal U 3 crehl % 37 -
(C) F D) MACAD | T § 37 T ST 6 38 SR
X AT B [T TR |
24, lP:Io?w many persons sit between E and © S
(A) 3 (B) 4 @H@%WWWWW
C) 2 (D) None of these TEE AR E |
E 3R F % 7o fpa =i 98 8 2 (D) & e B1Y § Tor T it 1|
(A) 3 (B) 4 o 7T 3799 W 379 5T 2, ST ¥
©) 2 (D) THAFETE | T H 7€l g =R |
MKP 8 O



https://applink.adda247.com/d/XhqWf9lSap

Adda

e

GET IT ON
Google Play

26.

Mrs. Dixa took a taxi to meet her three
friends for lunch. They were waiting for
her outside the restaurant when she

pulled up in the car. She was so excited

to see her friends that she left her bag in
the taxi. As the taxi pulled away, she and
her friends took notice of the license
plate number so they would be able to
identify the car when they called the taxi
company.

1: The four women seem to agree that

the plate starts out with the letter J.

2:  Three of them agree that the plate |

ends with 12L.

3. Three of them think that the second
letter is X, and a different three
think that the third letter is K.

The four license plate numbers below
represent what each of the four women

thinks she saw. Which one is most likely
the license plate number of the taxi ?

sfmret feem 3 o= & foru 1ot i Teforn
g firem & fou 2ot <ff | 9 Wil & et
3IGhT SA9T L @1 off 519 98 R | &hl |

agaﬁa%ﬁﬁ@ﬁaﬁé;%qsaﬁg

I oft foh 3707 S S 1 B oIS TE |

J8 & T =elt wE, 3@ 3R 3EEh

geforl 3 iYW T W e T

q1feh o T HUHT T Hict BT T HR b

&= L Hb |

1: IR Al 39 1d & F8Hd i aidl
foh i ohl BT ] FRB BN R |

2: 30 U A Hgud g f5 wie 12L &
1Y THTH BT § |

3: W A et & T g 3R X
I 31 o Eieicll & o e SRR K R |

= € T8 =R ATsEE wie gy g 8

for = afgenst 3 & U o diedt & fop

U T <@ | S T STSEE Wi HEA

i H B4 ohl GvTeT gl 31fes B 2

(A) JXK 121 (B) JYK 12L
(C) JXK 12L (D) JXX 12L

’

27.

28.

29,

If in a certain code language DESERT is
coded as EGVHTU, then how is BUDGET
coded in that same code language ?

Ffe forelt e e W1 § DESERT I
EGVHTU % 9 § %83 [l I &, al
34T He 99T § BUDGET i ¥ %294
fepam e 2

(A) CVGKGU (B) CWJGHU

(C) CWGJGU (D) CVIGUG

Count the number of quadrilaterals in the
following figure :

frefeaa smepfa & =gyt <t aen i -
(A) 7 (B) 8
(C) 10 (D) 12

Following question consists of a set of
three figures X, Y and Z showing a
sequence of folding of a piece of paper.
Figure Z shows the manner in which the
folded paper has been cut. Choose a
figure which most closely resembles the
unfolded form of figure Z from the four
answer figures %iven below.

fr=fefga g

........................

X)
Answer Figures :

IR AR :
———

"\
(A) ! ®) || ©
— —————/
>0
C D
Olls o  ® S
MKP
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30.

31.

32.

33.

If a mirror is placed on the line, then , 34.

which of the answer figures is the
correct image of the given figure ?

e, T T U @ A, A T I
Fpferll # & i T Spla ot T A |
1 T Wit 8 2

(A) (B)

0 e
g X

Which symbol will be on the face
opposite to the face with symbol * ?
*

© (D)

fog g 2

@ * $

_ * . + s + s +

A) @ (B) 8
©) $ (D) +
If mirror is placed on the line MN, then

which of the answer figures is the
correct image of the given figure ?

@l MN W @1 9L, af &
IR AT H Y B € AR
a@%aﬂaﬁuﬁdﬁwé?

SHNAGAI

N
(A) 2H/ADAI

(C) TAGANHS

(B) IADAVIH?
(D) TAGAMHS

Arrange the following words as per the
order 1n dictionary : :

S[eGl i IEGHI b FH b 3
ST 0 8 T F 37
1. Successor 2. Successive i
3. Successful 4. Success
5. Succession
(A) 4,5,3,2,1 (B) 3,5,4,2,1 |
(©) 4,3,5,2,1 (D) 1,2,3,5,4

MKP 10

35.

%WW%WWW@HET L 36,

From the given alternative words, select
the word which cannot be formed using
the letters of the given word :

QU T Shfetren wsql § W g weg YT I
feu U weg % &R T WAN Hh A
EEIRIESIESE

LEGALIZATION

(A) ALERT (B) GALLANT

(C) ALEGATION (D) NATAL

A man is performing yoga with his head
down and legs up. His face is towards
west, in which direction his left hand be ?

(A) North (B) East

(C) West (D) South

Teh e BR i 3R W S ek T
HTE 7 | 3Gh 4@ ufvEd hl AR F,
3EehT ST BT fohE feam A 2 2

(A) IR (B) T

(C) ufam (D) glegor

Mark the answer as per the code

provided below :

Assertion (A) : Clothes are not washed
properly in hard water.

Reason (R): Hard water contains many
minerals.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are correct and (R)
is not the correct explanation of (A).

(C) (A) is true but (R) 1s false.

(D) (A) is false but (R) is true.

™ % IR :
JARHAT (A) : HIX A U U Sleh T &I
&IT ST |

W7 (R) : 3T A H 3k WS BIA © |

(A) (A) 3R (R) TFI § & 7T (R), (A)
1 HE WEHTIE |

(B) (A) 3 (R) 3T @&l § 7o (R), (A)
&1 T TSR AT B |

(C) (A) HEI &, Wifehd (R) T & |

(D) (A) TTeTd &, IfehT (R) TET & |

The average of numbers 0.64204,
0.64203, 0.64202, 0.64201 is
q&ar  0.64204,  0.64203,
0.64201 %1 3TtEd gl
(A) 0.64202 (B) 0.642021
(C) 0.642022 (D) 0.642025

0.64202,
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38.

39.

40.

41.

42.

What day of the week was on February 14,
2012 ?

(A) Sunday (B) Monday

(C) Tuesday (D) Wednesday

14 ®LEd, 2012 1 THTE o1 i 97 e o1 2
(A) TER (B) HHER

(C) WTAaR (D) §9aR

If in a certain code language HOPEFUL
is coded as KLSVIFO, then how is
CAPTAIN coded in that same code
language ?
Ife fereft ffead e w1 § HOPEFUL &1 |
KLSVIFO % &9 ¥ for@r Sar 7, af 36t
%< WTNT § CAPTAIN %1 S Heag fopa
ST ?

(A) FZSGZRO (B) GEGSRDQ

(C) FZSGCLQ (D) FZSGDRQ

Find suitable answer in the place of
question mark.

T T o T W 3T I gred |
302 :15::521: ?

(A) 7 (B) 13

() 17 (D) 21

Choose the box that is formed from the
given sheet of paper (X).
& TS BT i 3 (X) T 5 ST bl T |

To090

X) 1

(A) 1 and 2 only (B) 2 and 3 only

(C) 3and4 only (D) 1 and 4 only

(A) %1 1 32 (B) Ha@123R3 |
(C) FIA3 34 (D) Hae 1 34 |

Initially clock showed 1:30 PM, what
will the time be after 1,44,356 minutes ?

mf{u@%f{moprﬁg@r
1,44,356 T2 < ST == 03 BT 2
(A) 7:15 PM (B) 7:26 PM
(C) 7:30 PM (D) 8:00 PM

11

43.

|,

Kunjan, Lila, Mehul, Nikunj, Om,
Priyank and Queen are sitting on a
circular dining table for a dinner. Queen
is not between Priyank and Mehul. Om
is neighbour of Kunjan and Nikunj. Lila
is second to the left of Queen. Priyank is
to the immediate right of Kunjan. Who
is sitting to the immediate right of Lila ?

(A) Mehul (B) Priyank

(C) Kunjan (D) Queen

ng ('1|('1| gd, s, 3tm, frEms 3
W % T T TSR SR 29

Wé%% | A, ﬁaﬁaﬁtﬁ@éﬁﬂﬂq’ﬁ

7| ﬁna?? st 1wkt 7 | often

WA W | s, $99 &

IHTER | é?‘cﬁﬁ‘cﬁaﬁ'—raa%?

(A) 7get (B) firs

(C) i (D) FH

A certain number of students are
standing in a straight line, and all of
them are facing north. Arundhati is 19"
from the right end of the line, and
Arvind is at the 15" position from the
left end of the line. Both, Arundhati and
Arvind interchange their Positions, after
which Kirti who was 24™ from the left
end is now at the 5™ position to the left
of Arvind’s new position. How many
students are there in the line in total ?

(A) 45

(B) 47

(C) 49

(D) cannot be determined.

BN <h! Uk ffvaa g ue @i W@ o
Tl 8, 3R 37 Tt 1 9@ I H A F |
eyt Ufth o T B U 199 TIH W g,
R 3foie Ufth o 99 SR ¥ 159 TIH |
2 | 3ufd 3 Infoe gFf 3 3T TIH
IAUE T dee e, fSEes g Hifd S &
BRI Y 249 TH W ft 319 3rfde & U
T il SR 3R 59 T W | ufe |
Pl fohad B 8 2

(A) 45

(B) 47

(C) 49

(D) et 7 foren ST wspaT 7 |

MKP
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45.

46.

47.

48.

MKP

Gamer Males who are Non-Dancer and
Indian are represented by which number ?

RaeTt gey At - (Fd el 7) IR
W% foper T g R U & 2
1 Gamer figer

12 3 | #== Dancer 7d%
= Male g&

4 3
= Indian widig
(B) 7 )
(D) None/sTs &l

(A) 5
(C) 10

Choose the box that is similar to the box
formed from the given sheet of paper (V).
39 i bl I 91 TeT T TS i 3ffe |
T S (V) I B |

Eﬁ@
CAEed

(c) (d)
(A) (a) and (b) only
%A (a) 3K (b)
(B) (c) and (d) only
I (c) 3R (d)
(C) (b), (c) and (d) only
I (b), (c) IR (d)
(D) (d) only
(d
At 3:30, the hour hand and the minute ;
hand of a clock form an angle of :

3:30 S, TSt i T hi ﬁtﬁeﬁ
% B 1 A R |
©)

60° gB) 75°
90° D) 100°
Find the missing number in the given |
series following the same pattern. :
@ TS @ § GHE Ye 1 STIE ER%
U TR ST T HIRT |
15, 17, 23, 35, 55, 85, (?)
(A) 92 (B) 112
(C) 120 (D) 127

12

49.

. 50,

In the question, a piece of paper is folded
and cut as shown below in the questions
figures. From the given option figures,
indicate how it will appear when opened

¥ H, TS o Teh Ihe

™ 3§, @w%iﬁ%wmﬁﬁ@m
w% | fow MU fopew o @, ST B
@rel ST T 8 She fwTE & |

B) | [0

D) | [E7

In the following question, statements are
given and these statements are followed by
conclusions. You have to take the given
statements to be true even if they seem to
be at variance from commonly known
facts. Read the conclusions and then decide
which of the given conclusions logically
follows the given statements, disregarding
commonly known facts.

Statements : All the bottles are boxes.
Some boxes are bags. Some bags are
suitcases.

Conclusions :

I.  Some bags are bottles.

II. Some suitcases are boxes.

III. Some bottles are bags.

IV. Some bottles are suitcases.

(A) OnlylI (B) Only II

C) OnlyIlll _ (D) None of these
Y
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S2.

53.

Section—-B / 9TT-§ .
Teacher Aptitude and Attitude / Rrereh tfverwar wa stfigfa

Suppose a teacher asks students to submit a |

home assignment. Students pr?are the

assignment generally as written
and submit to the teacher.
evaluates the assignments, writes his/her
comments/suggestions in the assignments,
and returns back to the students. How
message is conveyed in this situation ?

(A) Non - Verbal Communication

(B) Verbal Communication

(C) Intrapersonal Communication

(D) Interpersonal Communication

T o 7T el § | B SR W e |

TEATST o Y H 3THEAHE IR hid & 3T
Treren =1 ST U & | TreTes wig R T

TR Bl §, W wR o S
feouft /ggme foraar & 3t SET oo |

ierar g | 38 fufa 0 gesr v fean Sian g 2
(A) TR-HiRges 991 (B) HiRgsh T=R
(C) URHNe TIR (D) Ifddafheh TeR
Verbal communication
conveying message through
communication.

(A) personal appearance and oral
(B) oral and written

(C) written and facial expression

(D) oral and eye contact
TER |

wmE ey

(A) =afmma Iufefa 3k diRges
(B) Hifge 37 fetfad

(C) Tafaa 3t ==t <t rfieafe
(D) Tifges 3T = Hueh

technique is used to understand

nature and behaviour of students.
(A) Personal appearance

IR & HIE9H 9

mvolves

ocument |
Teacher

;

(B) Posture

(C) Gesture
(D) Eye contact
T I UAN BEI b T |
3R HaER ! A3 & forg fopn ST | |
(A) SHhTd Sufefd (B) Hal

(C) BE9-¥E (D) ¥ "9

13

54.

55.

56.

57.

During the process of communication,

barrier creates faulty expressions,

poor translation, ambiguous words, and
mappropriate vocabulary.

(A) Physical (B) Socio-cultural

(C) Linguistic (D) Psychological
%1 TfRAT o SR

TER ED , B
0Te, G , TIE_¥Ieg 3TN

S Tegael! bl i e & |

(A) TR (B) SHISh-Siehidh

(C) wmST-Haet (D)

‘Oxygen is represented by O;.’
Which type of knowledge is it ?
(A) Procedural knowledge
(B) Metacognitive knowledge
(C) Conceptual knowledge
(D) Factual knowledge

*JTTFS bl O, g ST ST & 17
I8 fha IR BT 8 2
(A) RG]

(B) TESHICH A
(C) HeheUHTcH I

(D) dATcHeh
Which type of communication helps
individuals and groups within an

organization to communicate for achieving
established organizational goals ?
(A) Interpersonal Communication

?(333 Transpersonal Communication

Small group Communication

% Organizational Communication
FHR T HAR _Th T & Hiw

Hfeal TR Tgl ! TIUd SIS

AL H I HA b U F@ag HE A

HETA] AT 8 ? ,

(A) 3T TaR (B) GUeEithes €1

(C) g ag 9 (D) @3TcHsh 89

Which of the following sentence is

incorrect in context to learning ?

(A) Learning is Unitary.

ng Learning is individual and not social.

C) Learning modifies the behaviour of
the individual.

(D) Learning helps to make choices in life.

ED H FHfRgd 9 | HiF @

EIEE RIS

(A) HRGHT ThIcH ? |

(B) HIGHT AT &, ST T8 |

(C) "1 =afth & STIgR I Gefed
AT | ,

(D) G SiaH § gHTE ot § Heg il & |

MKP
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58. Which of the following sentence is
correct for ‘Teaching’ ?

(A)

(B) Concerned with only growth of an ;

individual.
(C) Form of intrapersonal influence
aimed at changing the behaviour.

(D) Simulation, Guidance, Direction
and Encour ement of Learning.
1 qE AT h
1%1@'@% ?

(A) r
(B) o o™ O TEfa B |

(C) SIIER i ¢ o Ie3d U URERh
TS T &Y

(D) HREH 1 3701, "RleeH, foom 3k

59. In psychology, awareness is a concept
about

(A) the state of knowing, perceiving

and being cognizant of events

(B)
(C) State of being aware
(D) None of these

H SAEehdl
FFIRM R |
(A) T I S, FHSH TR S <6
et
(B)
(C) SiEs
(D) ¥7H © e &
60. Teaching is not effective

(A) students are actively involved
(B) it is well planned

©

(D) communication is not effectively

reciprocating
Toreqor gvreft €T B Grq'
(A) B Aih 9 8 IMHA & |
(B) I8 gl
©

(D) TR 99T &9

TR
MKP

S —

when

61.

62.

63.

14
[Yellow = 3M | Green=2M | Blue= 1M |

is the major source of unhealthy
relationships.
(A) Anxiety

(B) Depression
() Institutional chsos

(D) Institutional stress _
ITATELTHL FEHT T THE 614 § |
(A) HeliEe
(B) Torrsm
©)
(D) TN aH1e

The nature and quality of interpersonal
relationships greatly influence the

and of an institution.

(A) environment, working

(B) environment, development

(C) environment, ethos

(D) environment, life

Wﬁ%wﬁa‘ﬁwﬁr e
%3l ogd Wi B |
(A) %

(B) SIS,

(C) FTamE,

(D) FTaTEo,

Which hierarchy follows top- bottom
approach in an educational institution for

decision making ?
(A) #

(B) Principal, Teacher, Director and
Management

(C) Management, Director, Principal
and Teacher

(D) Teacher, Principal, Director,
Management

fopeft Tereqor weu o fofg o 6 forg &6

T qeehH M- qa g0 1 STTER
HATE ?

(A)

(B) YUMIeATH, 3FeTdh, Heweh 3R
FELC

(C) yaem, fHegeh, YamTEAGe 3R
SAATh

(D) ALY, TIHTEIh, s, Taed
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64.

65.

66.

67.

Which are the two significant and crucial
factors for an Interpersonal Relations ?
(A) honesty and trust

B) trust and respect

gCg honesty and judgement

__Judgement both

HeHl % [T g1 Aeequl 3TN
Fruries FRE BT E 2
(A) SHMERY 3R fergama
(B) IR I
(C) SHMCR 3R Fura
(D) Toeamd 3R &FAH qeT SHHGRT 3T
fota gt

of the institution is a bridge to |
professional

maintain  appropriate
relationships between staff members and
management.

(A) Head (B) Supervisor

(C) Director (D) Co-ordinator
TEIE HEATR |
g % Sfte 3fud SATaHTRe q9Y 99 |
T o [ Th A 2 |

(A) T (B) HeieiEh

(C) ficse (D) THIH

‘The SDG-4 education 2023 framework
on education emphasizes the inclusion of

modalities for the foundation of quality |

education.’

What is meant by SDG-4 ?

(A) Social Defzelopment Goal 1
(B) Sustainable DeveloEment Goa

(C) Standard Develop oal
(D) System Development Goal

‘TIE W SDG-4 REr 2023 1 g€l
Torgarget e 1 g % fore dR-adeni
! It S WAL AT R I’

“It 1s the responsibility of the to
keep relationships with students focussed
on Pedagogical goals and academic
requirements”

(A) institute (B) head

(C) students _ (D) teacher )

“NITH AR 0T STETIhdTS

TR higd BT o A1 Gl DI TIC TGHT
i et 2 1

(A) &I (B) HH€

(C) ®&F (D) JALIUH

(D) trust and respect & honesty and

15

68.

. 69.

70.

Which of the following are the signs of

fostering healthy interpersonal

relationships ?

(A) mutual respect and  shared
responsibility

(B) mutual commitment to goals
(C) no willingness to negotiate and
engage in dialogue

(D) mutual respect and  shared
responsibility & mutual
commitment to goals both

il q e

TE ! FGTET ¢ b Tohd & ?

(A) TER G IR d13n Mg

(B) W&l o foTe urenien Sfaaga

(C) STa=id s AR STa=id ¥ IMHA 8-
1 IS $901 TE ¢ |

(D) TWER HH 3R |ren g e
AT o foTe IrEafe Sfdsgdr gEi

The teacher is responsible for maintaining

(or acquiring)  not only in areas of

personal interest but in all areas relevant

to course goals or objectives.

(A) relations with others

(B) pedagogical knowledge
(C) well defined standards

D) subject competence .

£ 7 STt S o 3 A B At
TSI b AL AT I o 1T TR
auft & | 1 SFTC W& (I 9TH
) o T8 TR 3 |
(A) ?%Wﬂ

(B)
(C) 7=t T & TR HTehi
AT

(D)

‘A is based upon specialized
study and training; it provides skilled
service and Guidance for a definite
purpose to a limited section of the
population for a limited period of time
and can be practised independently or
within an institution.
(A) Profession

(C) Trainin

(B) Job

(D) Work
AR TfTeTor W
ARG B ; I8 Hifta safy & fou smerd
%@Hﬁﬁaaﬁ%m@ﬁ%ﬁﬁw%
R

MKP
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71.

72.

73.

74.

MKP

Whlch of these is not a characteristic of
rofession ?
( ) A profess1on renders an essential
social service.
(B)

(D)

A profession does not demand
11zl1sses510n of a body of specialized
owledge and extended practical

tralmn

éwﬁﬁﬁwqﬁ%?

(A) sqama JEIH TMIH T T
AT S |

(B)

(©) W!W%%!I

(D) e fRW FE IR fowaria
SR TR o el o AU
1 AT T BT 2 |
Which of the following
characteristic of a teaching professmn ?
A) Involvement of intellectual oioera‘q.
B) Transforming raw material mto a

ractical and definite end
© [
D) Lack of self-organization
%!T—ﬂ%lﬁ@ﬂ T ¥ $= e sqgam
oA TEi g 2

BRG]
Eg; Eﬁmw% .‘iﬁﬁm

(©)
(D) SATCH-TTS |

“Professional development of teachers is
not an event, rather it is a process.” This
process is in nature.

(A) static (B) continuous

C d D
(ﬁf)r =2 ( )w%aﬁéw
& B, Er%m"?l’%@m% I =g gfskan

(A) R (B) Frax
(C) o (D)
In an Educationa institution,
commitment to the well-being and
development of all pupils is essentially

demonstrated by a .
iD; Director
&l

aﬁaaaml

A) Teacher
C) Management
T T TE

g yefiiia HI S 2 |

i

w9 Y T
(A) =TS
(C) YeeH

(B)
(D)

! pro LSSIOII 111V0|V€S a CO!G 0! etl!!cs.

not :

R ¥ |

;

75.

76.

77.

16
[Yellow = 3M | Green=2M | Blue = IM |

Which statements from the below does

not show commitment of teacher

towards pupils and pupil learning ?

(A) Teachers treat all pupils inequitably
and with disrespect.

(B) Teachers treat all pupils equitably

© and with respect.

(D) Teachers treat all pupils e ultab!

3 o e 5 8 A e

feremfera 3ﬁt ﬁﬁlﬁ@kﬁ % Afrm &% ufd

frereh <hY wferergan sh1 weffa e st 3 2

(A) Fees aefi ferenfer & @y s
9 H 3R TG  H1Y S8R hid & |

(B) 7= Tt i % 1Y T &Y
T 3T % H1Y FIER Hd ¢ |
©)

(D) Ww

HE |

Teacher’s commitment to Students’
well-being and learning is not through

(A)
(C) empathy in practice

trictness
m i & gfd freres 6t
(A) HehTcHeh T9TE

é;qu@:@%l
(B)

(€) Wgww@
(D) T&t ST TE&HT

i o 91 THH

ositive influence

What is STEM curriculum ?

(A) Science Technology Education &
Mathematics

(B)

(C) Science Technology Engineering &
Mathematics
(D) Sociology Technology Education &
Mathematics
(STEM) UTaa5H 1 8 ?
(A) TTEH SaAATS Tehe U Adifeaw
(B) .
(C) HsH ERIIERIEC It

(D) TIREIATST JaTatst TsIhsH Ug
nInfeeg
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78.

79.

80.

variations  are important ; 8.
consideration ~ with  reference  to
dependence-independence.

(A) Attitude (B) Aptitude

) (D) Interest

‘ % Hey H
HEEYU oA & |
(B) Irra
(C) 3 (D) feer=edt

How does a student get socially mature ?

(A)

(B) A student can become socially
matured when he is exposed to
those people who are socially
mature so that he can pattern his
behaviour accordingly.
A student can become soci
matured when he is exposed to

and develop an understandin

society on his own.
(D) None of'these

Teh BT WIS ®9 ¥ YR 58 Bidl & 2
(A)

©

%aaa's'a‘«rﬁmﬁé:aﬁ 83

(C) Wwwﬁﬁ;wﬁqﬁqﬂaw
Hehdl g 9 98 W & HUeh H 37Tl
39 TH TR GHTS <hl TH foaenfdq n

AR
(D) T @
During the process of students :
learn to live up to the expectations of the |

society in which they live.

(A) Social Adjustment 5

B) Social Maturity

C) Social Growth

(D) Social Justice
ER

SIS TG I HEd & T I ®AE | |
(A)
(B)
(C) AR forehd
(D) AT =T

17
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82.

helps student to know what is
desirable and expected from him.
(A)
(B) Providing a
atmosphere
(C) Allowing students to do as per their
wish (Flexible atmosphere)
(D) Providing appropriate role models
BHE hI TE H Heg Ll § T

IHY A1 AT IR URE B |

(A) BRI SE e

(B) |& 3R AR ATATaR0T TgH T

(C) BT I ITh! TTIT o TR B hi
AT ST | (GfTLTSIeh FTaTa)

(D) 3T SRUTETT JEH T |

strict &  targeted

Who introduced ‘Play way’ method ?
(A) Caldwell Cook (B) Froebel

(©) (D) Blooms

fr W @ (‘Play way’) Ugid i
S[&3TA <hl 2

(A) HegdAFH  (B) Thisicl

(C) Hicwd (D) A

Which factor influences that students
studying in a secondary school
understand that society does not expect
him to regress to childhood behaviour at
this age ?

(A) Concept of dependence-independence
(B) Self-control

(C) Stress

(D)

S T B TWIGd @l g fh Th
et foreerd o e aTel BT I s
o TS 399 39 39 U 99U o FAgR hi
3R oAty 1 3efie T LT B 7

(A) FrRar-Tadsar i e

(B) 3T for

(C) a1

() T e

MKP
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84. Match the following : $6.
List — 1 List — 11
(Parameters) (Description)

a. Flexibility 1. Ability to set clear
expectations and
parameters for
performance

b. Holding 2. Ability and willingness

people to adapt to the needs of
accountable situations and change
tactics 87.
c. Managing 3. Ability to support
Pupils pupils and to help them
become confident
independent learner
d. Passion for 4. ability to provide clear
Learning direction and to
enthuse and motivate
them
frferfiga =t gufera SHifsm
1 1
(HT9GE) )
a. TRIAT 1. WGRH o 1T TE UETE SR
HIICS! sl T HiA hl &l |
b Wi 2. uifedfed o oSEwEl %
EEIE[ 3D B 3R WA SgeH |
SEET T AT 3R g2
c. ToenfEi 3. foenfiE 6 wgm@r w0 3R
EIRELE] 3% STCHIRETH! T fRrereff
S H HEg ht hi &l
d. eI ® 4. U faIm Y| S AR 3=
ST HH 3R Ifa HE
1 &
(A) a-2,b-1,c-4,d-3
(B) b-1,¢c-3,d-2,a-4
(C) c-3,d-4,a-1,b-2
(D) d-4,a-2, b-3,c-1
85. Which of the following defines the !
concept of leadership ?
(A) influence, crucial, expectations
(B) influence, expectations, relationships : 88.
(C) influence, relationships, voluntary
effort
(D) influence, voluntary effort, goal !
achievement
Y AT A 1 AL &l |
RIS LT g 2 ,
(A) &, T, 3ufd
(B) S, ST, Fee
(C) 99T, FeY, T&iss b
(D) TWTE, Wiessh T, A6 3udfed |
MKP 18

In  leadership, transforms
potential into reality.
(A) analyst (B) catalyst

(C) educationalist (D) facilitator

T 1, FHAT I
SEA GaT B |
(A) foeems (B) 3OHH
(C) Rremsmen (D) glagmerar
Match the following :
List — 1 List — II
(Leadership Myth)  (Description)
a. Everyone canbea 1. Rarely
leader.
b. Leaders can deliver i.. Not
results. necessarily

c. People who get to
the top becomes
leader.

d. Leaders are great
coaches.

iii. Not always

iv. Not True

a. al
21
b. A ARUTH QHBAE | il FATERTH &Y

ToreR ot g 9Tt gﬁfr?ﬁ
c. W i,
JaT SR |
d. %mnmuﬁr?ﬂ%ﬁsﬁ iv. TGRSR |
|

(A) d-i,a-1i,b-1v, c-iii
(B) b-ic-iii,d-iv,a-ii
(C) a-1v, b-1i, c- 11, d-1i
(D) c-i,d-11,a-111,d—1v

Use of ICT for quality education was

highlighted by

(A) NCF-2005 (B) NCF-2009

(C) NEP-1968 (D) NEP-2020

TurerTqUl et % fofu aTEEdr (ICT) %
LS QI Th RN STAT 1T AT |

(A) THHITH (NCF) -2005

(B) THHIT® (NCF) -2009

(©) (NEP)-1968

(D) T (NEP)-2020

[Yellow =3M | Green=2M | Blue = IM—|
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89.

a.ﬁtﬁa’( i I WA b w?x-wa
ar TSRt 3T SRk Sfied

s
b. higd ii. 3k T o ToTw TSRS
c. AT iii. 789 ! SEd Bl & S
d. fovaeiiTar iv. AR 39 femmn Rl qu

90.

. Ideation iii. Needs recognition that

. Credibility  iv. constantly feeding their

Below given are the strong basis for
leadership development Match List - I
with List II :

List-1 List-1I

Responsible i. Possess a long term plan j
Leaders for their school as well as |

career and personal life.
Focus 1. Take psychological
ownerships for their actions.

goes with success.

minds with new ideas.

= feu e T foshr o foT ISt 3Tmem
%Rfﬁ Iaﬁgﬁﬁnﬁrgﬁ%ﬁaﬁﬁq

|

AEIehTToTh IS 1 |
o |

H%eAdT o 1 ST 2 |

ﬁaﬁ@mﬁl%l
A) a-i, b- - 1v, d - 1ii
B b-llC-ld iv, a - il
C -11d 1Vb-111
D d-11a-1b-1v c—1iil

characteristics of leadership in an

educational system ?

1. lead by example and inspiration.

il. guide personal programs, but rely
on his decision.

iil. produce  cohesiveness  without
which co-operation is impossible.

iv. don’t resolve differences which arise in
growing organisation because priority is
the growth of the organization.

v. contribute to the group by
advancm useful sug estions.

mﬁmamw

11. a»‘rwi'q’ﬁ:ra%

c'1|°h-| 3T Lbamwiqﬁwa%

iii. W%B—cq:ra% ﬁwas?ﬂﬂ
iv. ae%ngirw:r‘sﬁm@maﬁaaﬁ

BT Ui Tt e R afg R |
V. mﬁwaﬁaﬁwa{sﬁ

§A§ i, iii, iv ng ii, iii, v

1, 111, v D

19

Which of the followin are the

91.

92.

93.

94,

The communication of leader’s vision,
making his/her dreams apparent to
others and aligning people with them is

(A) Management of Attention
(B) Management of Meaning
(C) Management of Trust

(D) Management of Self
i

. T TG/, I B
Rt % HIH Yohe BT S A B FH
EICES | .

(A) B S TET  (B) 31 1 FEEA
(C) Taam® &1 988 (D) = 1 JaeH
Which are the most essential factors in

leadership ?
gAg follower, leader and situation

follower, situation and
communication )

(C) leader, situation and
communication o

(D) leader, follower, situation and
communication

A U HaY T e hiH 3 2

(A) AR, = 3R feuf

B) TR, feufd it g=m
Ecg ?ﬁn fRufd st gem

(D) =T, STTARA, fedfd 3R =R

Evaluation that monitors the learning
progress during teaching is

(A) Summative Evaluation

(B) Placement Evaluation

(C) Formative Evaluation

D) Diagnosis Evaluation

U o QiU Hige <hl Tt <At famEt
FA AR 7|
(A) FNTTCH oo
(B) HHE He=ITeh
(C) 3fexd (formative) HedTeh
(D) Heif-eh qeAich

According to Kohlberg a teacher can
instill moral values in students by:

(A) Laying clean rules of behaviour

(B) Giving strict punishment

(C) Discussing moral issues with them
(D) Giving 1mportance to religious

teachmg
3?“ u e fommfEi #
g W
W% |
(A) oqqsu%ﬁ&qw EREEEicil
(B) el &Sl

(C) 3 | A g’sﬁmaafao‘ml
(D) wftieh fareq0r <l e & |

MKP
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95.

96.

97.

The word communication is derived from
latin word ‘communis’ means

(A) To make common
(B) To share

(C) To exchange

(D) To know

%JI 1?? ;ﬁ%:r wﬁwﬁa (comrlnunls) g

(A) | §9H & g
(B) HTM i o ferg
(C) Torfrma o & forw
(D) ST & o g

How students can decode the message
sent by an audio programme ?

(A) Through visualization
(B) Through demonstration
(C) Through understanding

(D) Through interpretation

B Teh ﬂmmmﬁﬁmmaﬂ
FTIETG HEl HL Feh & ?

(A) GRAEAR b HIH &

(B) WM & HTAH ¥

(C) THeI s W &

(D) SR % HIEH |

Given below are the components of
communication process. Select the
appropriate sequence.

(A) sender, receiver, feedback, noise

(B) sender, receiver, medium, noise,
feedback

(C) sender, message, medium, receiver

(D) sender, message,
receiver, feedback, noise

TR wfshan % gesh o for T E | 3ugw
S ohT I L |

(A) 9, STehal, Sfagfy, IR

(B) ek, STHehdl, HTEH, IR, Ufayfy
(C) 9ok, TN, HIEH, JTHhAl

(D) 31??’ Tew, "I, Tkl fagfy,

medium,

MKP
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98.

99

| 100.

the
by the

Communication starts with

conceptualization and
sender.

(A) development of an idea
(B) development of message
(C) transmission of message
(D) receiving of message
TOR U¥h R Tehedd I W IE
IS |
(A) foem = fopra (B) EeRi b foshrE
(C) HeI S T=U (D) HeN UTH HEAT
communication carefully
plans the message and delivers it

effectively so as to invoke self-
communication among students.

(A) Intrapersonal (B) Verbal

(C) Non-verbal (D) Interpersonal
e FEEHT H 6w s AT

ST & 3R 30 Wl & & ugarn § qifh

BEl o G IH-TAR I AT bt

ST EH |

(A) TREARER (B) Hiftash

(C) T-wiRas (D) Sidaafeeh
Suppose you plan to teach a content
(concept) using an audio programme.
Then, you have to write the script
required for the audio programme. So,
the content to be transacted in the
classroom is into script.

(A) Encoded

(B) Decoded

(C) Both Encoded and Decoded
(D) none of these

T oifoe fop 319wk 3ifea sriswA
ST Hh Th (JTTYUT)
g™ i IioHT s W& 7 | TR, 3THeht
Attt T o forw smavass fafu foret
Bl | gEfery, e H € S arelt g
fafr g2
(A) T=hISS
(B) Eiwiss

(C) I T=hIss 3R Eihice
(D) T4 | I3 &I

[Yellow = 3M | Green=2M | Blue = IM |
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101.

102.

103.

104.

105.

106.

Section—-C / -9
General Awareness / 9MH SITT&<hdl

Which of the following presents the :
most significant feature of the Indus
Valley civilization ? {
(A) Burnt brick buildings
(B) First true arches

(C) Buildings of worship

D) Art and architecture
%W%@Hﬁﬁaﬁqwﬁgaﬁmaﬁ
e fersIoaT S htat © 2

(A) St g 32 1 ARd
(B) U&c! AT TS

(C) T3 <l SARA

(D) el TR IR

The Brahmanas are books that deal with
(A) the Bhakti theory (B) ritualism

(C) yoga _ _ (D) meditation
STRT0 71 of Y g
(A) v faga®  (B) SUBIE o
(C) A A (D) &I ¥

The paintings of Ajanta depict stories of the
(A) Ramayana (B) Mahabharata

(C) Jatakas D) Panchatantra |
T o EACiESEZCR A
(A) THIEO (B) He™HRd

(C) Sirdsh (D) Y=rd=

Freedom fighter Shri Surajmal Basaniya :
belongedto .

(A) Bikaner (B) Banswara

(C) Jaisalmer (D) Jodhpur
T A S g S R 9|
(A) SRR (B) SrgaTel

(C) e (D) SUR '
The Ashoka pillar at Allahabad provides
information about the reign of
(A) Chandragupta Maurya
(B) Chandragupta I

(C) Samudragupta

(D) Chandragupta II

TATEISG @y
S H JFRR TG L & 2

(A) JETIH U (B) SIZTH Jo

(C) wHsTH (D) =igH fget | 110.

The mighty gateways found at the
temples of South India are called ;
(A) Shikhars (B) Gopurams

(C) Minaras

. (D)_None of these
Sfeqn Wma % T S g
(A) firew (B) MR o
(C) TR (D) FHAPETE |

21

| 108.

109.

107. Which of the following ruler known as

“Abhinav Bhartacharya™ ?

(A) Rana Pratap

(B) Rana Kumbha

(C) Hem Chandra Vikramaditya

D) Maharega Suraj Mal
Y fpH wmE® w1 <IAhEa

HRATETR % ATH & ST ST 3 2

(A) T g™

(B) M 4T

(C) B, fershmTiced

(D) HEST HHA

The ‘August Offer’ of 1940 sought to

conciliate the Congress by guaranteeing

(A) the setting up of a representative
Indian body to frame a new
constitution.

(B) government’s assurance to protect
the political rights of minorities.

© ‘ihilit_ there would be no partition of
ndia.

(D) that separate electorates would not be
provided for the depressed classes.

1940 % “3TTE T&E’ CARIICCl

S HIH E FHTAT B hl IR ! |

(A) T 1 GiguE s & fou
iR ATy ehr ot T

(B) 3TCUEEhI oh TsHITdeh SATRRI <t
T o o0 BT <hl STTTE

(C) WA HI [ fauH T8l grm

(D) gfeta =il o foTq e fatereh At
EHEERCDIESI ]

The northernmost limit of India is

(A) 36°4'N latitude (B) 37°8'N latitude

(C) 37°6'N latitude (D) 36°12'N latitude

W <! Heidl I HimT

(A) 36°4'N &

(B) 37° 8' N 318l

(C) 37°6'N et

(D) 36° 12' N 3187731

World’s Longest Highway Tunnel above
10,000 Feet located on which national
highway ?

(A) NH3 (B) NH 8

(C) NH 12 (D) NH 18 )
10,000 H2 & FR fova 1 go9 At
TR T fere Tt Tt W fRra B 2
(A) TS TME 3 (B) T Twmwi 8
(C) TEHE TMTT 12 (D) TTH THTT 18

MKP



https://applink.adda247.com/d/XhqWf9lSap

Adda

e

GET IT ON
Google Play

111. What is the most important characteristic
of the islands (Indian) located in the
Arabian Sea ?

(A) They are all very small in size.
%](3% They are all of coral origin.
D

They have a Vefiy dry climate.

They are extend%%arts of'the mainland.
HECTU! forRISdT 1 3 2
(A) I At THFRATFABR B |

(AR T T
(B) Oft YA gA + % |
(C) 3T U™ M%demg

(D) & g ¥t % fereafea
112. In the heart of the Intertroplcal n
Convergence Zone in the northwest, the |
dry and hot winds known as ° ’
A) Loo g Mango Shower
C) Nor Westers (D) Blossom Wind
I~ AR SATE
?ésr o ney H, Yok AR TH gansti @l
> 3 & 3 ST S B |
(A) (B) I wMmet
(C) R " (D) serem fag
113. India is the world’s largest producer of
(A) Groundnut (B) Wheat
(C) Rice (D) Pulses
0d ED)| ED)| EE
3ATCH 7 | %
(A) TRt (B) ﬁz
(C) = (D) e
114. In which of the following states,
Tumallapalle, where huge reserves of
Uranium are found, is situated ?
A) Jharkhand (B) Kerala
C) Tamil Nadu (D). Andhra Pradesh
1'.|TQ
EickS ﬁm%ﬁaa g frg T H fRmg 2
(A) ITEE (B)
(C) dfferTg (D) 3TY Je=
115. Which of the following state has area-
wise the largest forest cover in the
country as per FSI 2021 ?
(A) Madhya Pradesh
(B) Gujarat
(C) Karnataka
(D) Andhra Pradesh
FSI 2021 % 399, fmfafed 5§ & %&r
T H éaqa—cf F fedTe & o 1 T e
EERER S,
(A) FESE  (B) T
©) (D) 39
MKP
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116.

117.

- 118.

119.

120.

121.

The Ahom tribes migrated from
(A) SriLanka (B) Afghanistan

3q%_l:’Myanmar (D) Iran

T yaTtad g8 7
(A) fictent (B) STHITEAH
(C) =mR (D) ¥

Which of the following was the first
Indian woman who went into space ?

é; IS(hirisha}]%andla %)) IS(urlu'ta W(ijl%liamls
oneru Aum alpana awla

éw%m 59 B Tee WA Hfgen o

ST 3Tqiey | TS off 2

A) ifmrsgenr (B) gtar faferm

(C) HINE gt (D) Shea T Fraat

Who of the following never became an
Acting President ?

A) V.V.Giri gB) Zakir Hussain
C) B.D. Jatti D) M. Hidayatullah
T ¥ % F wraEs agdfd

&l &[T ?
(A) .. firik (B) STfeRt gaA
(C) #1.81. 5=t (D) .

Who of the following ladies is popularly
known as “Grand Old Lady” of the
independence movement ?

(A) Sarojini Naidu

(B) Sucheta Kripalani

(C) Aruna Asaf Ali

D) Annie Besant .
%!t!'rﬂ'h\@?‘ H @ fopm Tfgen w1 e
MG hl “Ug 3ee TS & §4 H FTHT
ST 3 2
(A) TIRFET TS (B) g%l?ﬂ FAH
(C) 3TN IAEH 3TeA(D) TH sEe
Which person is called “Bird Man of India” ?
(A) Salim Ali
(B) Dr. Rahendra Prasad

(C) Dr. Srikrishna Singh
Salman Khan

f(ﬂ?&wﬁﬁ ! Ul 1 &S A" gl ST & ?

(A) T 3l (B) = Wa TR
(C) =l (D) FeHH @H
Amjad Ali Khan is _associated with
which of the following musical
instruments ?
A) Guitar (B) Veena
C) Sitar D) Sarod
IHSIE Il @M T ¥ fora am
I H HEA @ 2
(A) TR (B) dom
(C) faam (D) g

(m)
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122.

123.

124.

125.

126.

127.

Yamini Krishnamurti is
accomplished exponent of
Bharatnatyam

gA Kathak gB
C) Odisi D) None of these
?@T%ﬁﬁﬁwﬁm%

(A) HIh (B) a-TZIH hi

(C) 3NEERH (D) T8 A IS T
is famously known as Flying Sikh.

Eé; lg/[aniinders Sin}%h EB)) YuI\{(r}z}i SSing}}ll
andeep Singh (D) Milkha Sing
S

an

w9 Y FATeT g o AW
N i
A B
Ec;w'\trﬁ?a' ( )w

&l

The first Indian Smentlst to win a Nobel
Prize was
(A) Amartya Sen
B) C.V. Raman
C) Hargobind Khorana
D) Subrahmanyan Chandrasekhar
isict YUE=hI{
(A) 39 T (B) #.&. wA
© D)
Who is called as Shakespeare of India ?
A Mahakavi Kalidas
Rabindranath Tagore
]()3 1]\3/Iﬁ)the{1 Teresa
arathiyar i
e fohdl el STl @ 2
(A) q%ﬁﬁaﬂ%ﬁa (B) TG 3K
(C) AT (D) WRIAR
Which of the following is the primary
agenda of the Kyoto Protocol ?
(A) Control anthropogenic sources of
ﬁreen ouse gases
egulation of hazardous wastes
5 3 Regulate the production of nuclear
energ ?I
D) Regu atlon of Global warmmg
Bﬂ?ﬁﬁ@@%
(A) ;ﬁq‘a’m [ & "G Hidl |
(B) W mﬁ@aﬂﬁﬁam
(C) Wmﬁ%maﬁﬁﬁaﬁaa&l
Dg TS ST T Tt
Which are the main pillars of “Namami
Gan e” project ?
ewera e Treatment Infrastructure
B River-Front Development :
C) River-Surface Cleaning
(D) All of these
T TR GRS o I W SH H § 2
(A) HA TR TR F=HT !
(B) Tat-the fasm
(C) TR - udg awiE
(D) Iai
23

128.

L 129

L 130.

131

What is Ramsar Conservation ?

(A) It 1s about conservation and wise
use of wetlands.

(B) It is about conservation of forests.

(C) It is about conservation of mineral
resources.

(D) None of these

(B) I SHI h TRAN H AR A2 |
(C) IE G THTEHT o TRV H TN § |
(D) T & s &l

Which of the following Acts, deals with
the rights of the communities that dwell

in forest over land and other resources ?
(A) Indian Forest Act, 1927

(B) Forest Rights Act (FRA), 2006

(C) Indian Forest Amendment Act, 2019

D) None of these
%W\aﬁaﬁ H ¥ %M 91 rfafEm, g 3R

S T T ST T Ted et et
STfRRT & Feford 8 2

(A) IR o rffem, 1927

(B) a1 AfUHR af%rﬁm(FRA) 2006
(C) WRA a7 gener 3ferfaad, 2019
(D) 5 & g el

Which of the following is
convention to protect ozone layer ?
(A) Basel Convention

(B) Bonn Convention

(C) Vienna Convention
(D) None of these

%&‘IT % fog fr=fafed 4 9

the

aﬁ'—rw
(A) SEA T (B) &9 g e
(C) T emied (D) ST ¥ s &I

Which of these gases is not permitted to
be released beyond certain limits by the
Prevention and Control of Pollution Act
by the Government ?

(A) Sulphur dioxide (B) Carbon dioxide
<) Nitrogen (D) None of these
3?%( 1 FLER GRT TGuUT ey
3R ﬁ?EWT ﬁaﬁm g Ffeaa w &
3fereh A e Y Tl T B ¢

(A) TR TEHAHEEE

(B) HIeH SEITIETES

(C) I

D) FHHBETE

MKP
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132. What is the impact of climate change on ; 137. Which of the following rivers drains into
forests ? Bay of Bengal ?
é %ncreaseg biO((iiiversijcy (A) Ghaggar (B) Luni
ncreased productivit -
C) Increased 1(::)_arbon seql}llestration (C) Mahi _ (D) Chambal
D) Increased wildfires and pest outbreaks fr=afafaa 9 @ =19 9t 3¢ s H @
(A) Sa-fafaear g afg '
(B) 3cTGshar § gfg. i’ (A) I (B) T&ft
(C) IS TUFHT H (C) &l (D) ==«
D) SATE sl 3TAT 3T hie & Tehid |
D) Eﬁ; 138. In which district of Rajasthan, Kalibangan,
133. Acid rain corrodes the marble of the a pre-mstor1c stte, 1s located?
monument. The phenomenon is also : (A) B1}<aner (B) Jaipur
called ) (C) Jaisalmer (D) Hanumangarh
Eé; Marllﬁe orowth EB)) Marllﬁe evolution TTETIEeh TIe Shic e TSTEH o fohd
Marble cancer (D) Marble warp a9
AT T T 6 TR HI G R feme <
AN 8 | T Wl T2 | (A) SiebT (B) S
(A) HER g (B) HTHER fasE (C) SR (D) TIATE
o) (D) 139. What is the tagline of Rajasthan Tourism ?
134. Which of the following is not a heritage ! (A) Land of gods
site as per UNESCO list ? (B) God’s Own Country
(A) Keoladeo National Park (C) The Incredible State of India
(B) Jaipur city (D) Full of Surprises
(C) The Jantar Mantar TSI G hl ATATed =18 ?
D) Bikaner Fort i
e F NN N
ITTAR T forerd Tt 921 & 7 (B) TiS¥ STl .
(A) HacTed TER 3TH (C) T 3shiSset TT 3T Srea
(B) T3 AR D) %ol 3Tk TTEIa
(D) AR T fopeT 140. Who was defeated by Rana Sanga in the
' _ battle of Khatoli ?
135. What is the State Dance of Rajasthan ? (A) Ibrahim Lodi (B) Akbar
Eé; 1]\3/Illlmdarl % ghooglar (C) Sikandar Lodi (D) Babur
angra owada % g | T G A foRd g o 2
TSR 1 U539 T |17 2 34
(A) gerh () L W () s
(C) WSt (D) 9aTe (C) fhetdidl (D) SR
136. art of Rajasthan is a minute 141. The Tejaji fair is held every year at which
painting on glass using gold. ofthe following places in Rajasthan ?
(A) Devra (B) Thewa (A) Bhiwadi (B) Udaipur
(C) Phad (D) None of these | (C) Beawar (D) Parbatsar .
TS 61 AT G H TSt BT B ETe Toreer | freferiaa |
TSI‘%?W@%W%' | o e R s fp ST 8 2
(©) e O FEAFET | () FER (B) STx
(C) & (D) TEAE
MKP 24 o
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142.

143.

144.

145.

Rajasthan became the first state in India
to surpass GW of cumulative
large-scale solar installations.

TSI A T T8l UHT T o T 8 |
e o2 99 9 g=Rit 9 gfasEt & |

GW &I TR feran 3 |
(A) 15 (B) 10
(C) 20 (D) 23

Sports For All (SFA) sporting services
joined as the powered-by sponsor of
which event ?

(A) Women U-19 World Cup

(B) Khelo India Youth Games

(C) FIH Women’s Hockey

(D) Khelo India University Games

TE BR ATA (SFA) T afaes forg n

T o TS ST BT o & 3 e 8 2
(A) A IS - 19 FeS Y

(B) @eil sfean 3

(C) THIATSTE oA bl

(D) Eel sfea FHafid

VAYAM RAKSHAMAH (We Protect)

is the motto of which armed force ?

(A) Indian Coast Guard

(B) Indian Navy

(C) Indian Air Force

(D) Indian Army

I TETHE (B9 18T Hid 8) form avmer o
I SEICE R

(A) MR T2 W&h (B) WA T
(C) YRR IR T (D) TR &1

Under which scheme of Rajasthan
Government, 12 sanitary napkins are
being provided free of cost every month
to women and adolescent girls for better
health management of women ?
(A) Udaan (B) Shakti
(C) Pankh (D) Pragya
TRYHE TR &l fhd a1 % d&d
g & S W YEEH & oy
afgeatt 3 freifal @ & TR 12

et Fufer gw TgH fRU T @ E 2
(A) SSH (B) Witk
(C) 9@ (D) 9=

25

146.

147.

148.

149.

150.

In which of the following cities, Ayush
Ministry organised Scientific Convention
on World Homeopathy Day ?

(A) Jaipur (B) New Delhi
C) Bhopal (D) Shlmla )
%!W%f\@?f{@ﬁ?a éﬂw
fargar ‘aﬁﬂﬂﬁ?ﬁ feam w

¢ feeeft
(A) WET (B)
(C) Wt (D) TR

Which of the following airports in Karnataka
was inaugurated by Prlme Minister Shri
Narendra Modi on 27t February ?

(A) Mysuru Airport

(B) Kempegowda Airport

(C) Mangalore Airport

(D) Shivamogga Airport

27 ®wEd W gaEEE of
Htesh § F=fafaad 4 &
T 3T TohaT T T 2
(A) HEE TS~ 37T

(B) TS~ 3780
(C) HTeiR EaTE-3FET

(D) TR~ 378l
Which country is known as a tax haven,
has introduced ‘Federal Corporate Tax’
for the first time ?

(A) Finland (B) Mauritius

(C) UAE (D) Switzerland

%a%ﬂaﬁiw%a‘—ré%m STHT ST 2,
B Teeh 9K bed FiARe o

TEdTfed fepan g 2

(A) et (B) Hidw™

(C) TYh 31 3 (D) feagsrets

Which city is the host of ‘5" ASEAN-
India Business Summit’ in 2023 ?
(A) New Delhi (B) Kuala Lumpur

(C) Dhaka (D) Singapore City
o1 OWE 2023 H <59 m(gaw-%ma

IR R - 3T H&H 8 2

(A) 7 feeeht (B) FATEAT

(C) eI (D) AT

TLMAL is a joint venture between India’s

Tata Group and which country’s counterpart ?

A& A gH
EZIREIEERE

(A) USA (B) Israel

(C) France (D) Japan

TLMAL ¥Rd % 21T T5g 31N fopd o1 &
THhE o S Teh TIH ITH & 2

(A) FuET (B) 3

(C) %= (D) S

MKP
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151.

152.

153.

154.

155.

156.

157.

158.

159.

160.

MKP

Section-D / ﬁﬂT’T—‘q’
English / 31sft

Which sentence contains an infinitive ?

A) She gave him the book.

B) They made dinner for themselves.

C) To sing is her passion.

D) He saw the car accident.
Fill in the blank using appropriate forms
of the verbs out of the given options :
Not only you but your friend also
to be blamed.

are

58 ﬁas %3 have

Which sentence contains an appositive ?
(A) The caris blue. ; .
](3: My friend, a doctor, is coming to visit.
D
thrilling.

She runs every day.
Which sentence contains an indirect object ?
(A) She bought a very nice book.
B) They showed him the way.
C) He played football. )
D) The flowers bloomed beautifully.

word :

Petrarch cultivated his fame and was the

first ﬁenuine literary celebrity.

A) developed gB sequence

C) despair D) demonstrated
Which sentence contains a transitive
verb ?

A) The bird flew away.

B) She slept soundly.

C) The children played in the park.

D) He ate the pizza.

Which sentence contains a co-ordinating

conjunction ? ! ' '

(A) The sun was shining brightly in the
sky since there were no clouds.

(B) She had a headache, but
continued to teach her students.

(C) After she had finished her work, she
went for a walk.

(D) He is tall, dark, and handsome.

Department for military stores
supplies is known as

gA Ordinance (]]33
C) Ordination (D)

she

Ordnance
Ordinary

Which sentence contains an adjective |

clause ?

(A) The girl who won the race was very

appy.
(B) He rode his bike to the store that

was very near to his house.
C) She sang a song for the class.
D) We ate pizza and watched a movie.

Which sentence contains a gerund ?
A) He enjoys running in the morning.
B) She is reading a book.
C) They played tennis after school.
D) The bird sang a beautiful song.

The movie was emotional as well as |

Find out synonym for the underlined

and

-61.

162.

163.

164.

165.

166.

167.

168.

169.

170.

“War and Peace” isabook by Tolstoy.
A) write gB written
C) wrote D) writing

Which sentence is an active sentence ?

gA; The cake was baked by my mother.
B) The car was driven b m){ brother.
C) She sang a song for the class.

D) The movie was watched by
everyone in the theatre.

Which sentence is an imperative sentence ?
A) 1 think we should go to the beach.
B) Please turn off the lights when you

leave. )
C) He is reading a book about history.
D) They played basketball in the gym.
Put the correct word from the options :

I have been waiting here the last
two hours.

A) since B) for

C) n D) over

Which sentence is a declarative sentence ?
gA; Can you pass the salt, please ?
B) What is your favorite colour ?
C) The sun is shining today. )
D) Wow! That was an amazing
performance!

Identify the complex sentence in the

following options.

(A) The dog barked and the cat ran away.
(B) She went to the store after she
finished her homework.

(C) He is a great athlete who also excels

in academics.

(D) They played soccer for hours and

then had a picnic.

Which sentence is in the interrogative form ?
A) The movie was very entertaining.
B) She went to the store and bought

some milk.
C) What time is the meeting ?
D) He ran three miles this morning.

Which sentence is a simple sentence ?
A) The dog barked and the cat ran away.
B) The sun is shining and the birds are

singirllf.

(C) 1 walked to the store and bought
some milk.

(D) She Iloves to read books and
magazines.

Which sentence has a subject-verb

agreement error ? '
A) The boy and the girl is walking to school.
B) The flowers in the garden are blooming.
C) He has two sisters and one brother.
D) She sings and dances on the stage.

She my request for travelling
together to UK.

A) turned down gB turn off

C) turnon D) turn out
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171.

172.

173.

174.

175.

176.

177.

178.

‘So.... that’ and ‘Such.... .that’ are the
hrases which express
A) Adverb clause of noun
B) Adverb clause of verb
C) Adverb clause of manner
D) Adverb clause of result

Which is the correct active sentence of

the following passive sentence ?

I was taken to the public library by my

sister before I was able to read.

(A) Before I was able to read, I was taken
to the public library by my sister.

(B) Before I was abled to read, my
sister took me to the public library.

(C) Before I was able to read, my sister
took me to the public library.

(D) I'was taken to the public library before |

I knew how to read, by my sister.

Give one word for : Irrational fear of crowds
A) Sitophobia gB Ochlophobia
C) Astrophobia (D) Claustrophobia
Choose

fo llowin%
Either t

the correct verb for
sentence : .
¢ manager or the associates

the merchandise.

orders
order

1s suppose to order
are supposed to orders

A/An
expressing a sudden feeling or excitement.
gA verb gB adverb

C) interjection D) noun

“The sun smiled down on us.”
The above is an example of

A) Irony
B
C

Metaphor
Personification
D) Both (Metaphor)
(Personification)
Choose the correct meaning of the
idiom or phrase given :
To make clean breast of
AE To gain prominence
B
C

To praise oneself
To confess without of reserve
D) To destroy before it blooms
Choose the one which best expresses the
iven sentence in Indirect speech :

anna asked Rohan, “Have you sat in a
trolley bus before ?”

and

the

is a word of exclamatory,

| 186.

(A) Manna asked Rohan had he sat in a

trolley bus earlier.

(B) Manna asked Rohan had he sat in a

trolley bus before.
(C) Manna asked Rohan if he sat on a
trolley bus before.

;

(D) Manna asked Rohan if he has ever

sat in a trolley bus.

27

179.

180.

181.

182.

183.

184.

185.

187.

Find the correct word to complete the

following  proverb and  familiar
expression :
Strike while the 1S hot.

A) iron water

C) metal D) book

Choose the most appropriate articles for

the given sentence:
heavy rainfall last week was

disaster to crops that were already in

dismal state. .

(A) No article required, an, no article
required }

B) no article required, a, the

C) The,a,a )

D) The, no article required, the

Which of the following best expresses

the same sentence in Passive Voice :

Do you understand what I mean ?

(A) Wha“g I mean is that understood by
ou ?

(B) %Vas‘7 what I mean understood by
you ?

C) Is what I mean understood by you ?

D) What I mean is understood by
you ?

Which of the following options has the

correct order of words to form an

interrogative sentence ?

(A) A wvillian /was he/ not to do/ such a
deed ? o

(B) Was he/ not to do/ a villain/ such a
deed ? o

(C) He was / a villain/ such a deed/ not
to do ? o

(D) Was he/ not a villain /to do/ such a
deed ?

No sooner had she read the telegram
she fainted.
than

then B
C) therefore D) there

What is the meaning of the word
‘vernacular language’ ?

A) formal language

B) informal language

C) foreign language

(D) native language

Use suitable prefix to make the opposite
of the given word :

Contented )
() o (B) s

Which one of the following 1S an
example of “Collective noun”

(A) Dog gB Man

(C) Federation D) Milk

Which word is an antonym for

‘generous’ ? .

A) stin gB charitable

C) kind-hearted (D) benevolent
MKP
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Read the passage given below and answer the
uestions from 5ue. No. 188 to 192 by
choosing the answers from the given options :

Reading is an essential skill that students
need to develop in order to be successful in their |
academic and professional lives. It is important

to remember that reading is not just about
decoding words on a page, but about
understanding the meaning behind those words.
Reading comprehension is the ability to
understand, analyze, and interpret what you read.

There are several strategies that students
can use to improve their reading
comprehension. One of the most important
strategies 1s to preview the text before reading
it. This means looking at the title, headings,

and any pictures or graphics to get an idea of |
what the text is about. Another strategy is to :

ask questions as you read. This can help you to
clari ty any confusion you may have and to
stay focused on the main ideas of the text.

It’s also important to note that reading

comprehension is not just about understanding |
the words on the page, but also about making -

connections between the text and your own
experiences or knowledge. This can help you
to remember the information better and to
apply it in different contexts.

Finally, reading comprehension is a skill
that can be improved with practice. The more
you read, the more opportunities you have to
develop your comprehension skills.

work, take the time to practice and improve
your reading comprehension skills.

188. According to the passage,
reading comprehension ?
(A) The ability to read words on a page
(B) The ability to understand, analyze,
and interpret what you read
(C) The ability to read quickly
(D) The ability to write about what you read

What is one strategy students can use to
improve their reading comprehension ?
(A) Only read the first and last
sentences of each paragraph
(B) Skip over any pictures or graphics
gC) Preview the text before reading it
D) Only read texts that are easy and

what 1S

189.

familiar
190. Why is it important to make connections
between the text and your

experiences or knowledge ?
(A) To confuse yourself

SO,
whether you’re reading for pleasure or for !

own |

191.

(B) To remember the information better |

and to apply it in different contexts
(C) To ignore the text

- 200.

(D) To make the text more difficult to :

understand
MKP
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192.

193.

194.

195.

196.

197.

198.

199.

According to the passage, how can

reading comprehension be improved ?

(A) By avoiding difficult texts

(B) By only reading for pleasure

(C) By practicing reading

(D) By skipping over any pictures or
graphics

What is the main idea of the passage ?

(A) Reading is an essential skill for
success.

(B) Students should only read texts that
are easy and familiar.

(C) Previewing the text is not an

important strategy for improving

reading comprehension.

(D) Making connections between the
text and your own experiences is
not  helpful for  improving
comprehension.

One should oneself to whatever

circumstances one 1s placed in.

(A) adapt (B) adopt

(C) adept (D) acquire

What is the meaning of the word
‘quintessential” ?

(A) common (B) ordinary

(C) typical (D) exceptional
Socrates was wisest of Greek
philosophers.

(A) the (B) a

(C) an (D) no article

Which of the following is an example of
a preposition ?
(B) happy

(A) sing
(C) with (D) quickly

Which of the following is an example of
a conjunction ?

(A) of (B) because

(C) beautiful (D) this

Select the word for the study of rhythm,
sound, pause, stress and pitch features of
a language particularly in poetry and
speech.

(A) programme
(C) prospect

(B) prosody
(D) protagonist

Which of the following is an example of
a possessive pronoun ?

(A) my (B) her
(©) its (D) all of these
He is here, ? Put question tag

(A) didn’t he ?
(C) isn’t he ?

(B) won’t he ?
(D) needn’t he ?
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151.

152.

153.

154.

155.

156.

157.

158.

159.

160.

Section—-D / HII-¢

Hindi / %r_ﬁ

161.

mﬁwﬁwwaﬂmﬁaaﬁ

TE R ? |
w=-JH -9

(A) T - FEA sﬁ%ﬁsna"r g/

(B) & - & IS

(C) & - 1%1# F:rﬂf—qéﬁ

(D) W - 3% G - 3Ted

BHEL o T T THA T dA” hawad hl
HEl 37 AT |

(A) 1 UTH 1 3o 9% <hl TTH

(B) mmaﬁﬁa@aﬁuﬁ

(C) e ?’!li
(D) ﬁ'ﬂf{

HT AT
(A) W ﬁaga;‘—n

(B) dhIXohl <hTH hT

(C) fearen fepern
(D) T

Frafefan & & g oo 5 ol el

ST AT T m@ﬁ)aﬂmgaﬂ%?
A) e,

EB% AR, uﬁqm

(C) srﬁﬁfac—er‘ qriesrfiren

(D) T, Sfiger

Tora sec § <aTTee Y TR B 2

(A) FHEE (B) HaEE

(C) e (D) Uhrae

T 1 o fore vise o1 wftr o Bt TR 8 2
(A) 99 + fgg=  (B) T9: + BR
(C) W& + 39 (D) T + 3
ESL A w%&rm“aﬁw%‘?

| 169.

1m0,

(A) ol @fer (B) Ifg gfwr

(C) T & (D) or Hftr
T | I ageliis THE 1 ST TR 8 2 |
(A) ieTeha (B) firfeard ;
(C) =g (D) HHATIH
Topeft T1efeh wTeg o1 YT TR H BT g Al
U HEA 8

(A) 99 (B) 5

(C) ar (D) Wifx®
Eﬁﬁwmaﬂmﬁ%

(A) T Hfear forgar 2 |

(B) 31&ATh ?ﬂ?ﬂ%l

(C) rﬁ%ﬁﬁ?ﬂ |

(D) AT TSI IehTdl & |

29

162.

163.

| 164,

| 165.

166.

167.

| 168.

forg faehed o gfett sreg 78 2 2
(A) T, fem (B) 319, fagr
(C) fiemm, sgft (D) @em,

%&rﬁwﬁwﬁwg@%?
(A) 2,334 (B) 132
(C) 1,334 (D) 2 313

ﬁmﬁ%ﬁﬁ@%&rﬁwﬁﬁawqﬁ

87

(A) wﬁw%ﬁﬁﬁq

(B) W A ﬁ@@%aﬁtﬁmﬁaw
|

(C) T ST T &, agama%l

(D) I& YT 3 & a1 7 |

aqmgaﬁ@z@ﬁw H ¥ & A1 I3

(A) el S ] e Rgana |
(B) 9% W STg YT §31 T |

(C) ST 1 TH hL T & |

(D) =R 3T I8 I3 UG 17T & 2
%&r?ﬂwﬂﬁ% gﬁwwﬁ%ﬂrﬁ%?
(A)WH IR

(B) o <Igi bl ST 1T - Brad

(C) Toaeht s=a1 I 8 71 - uferd

(D) 1 3UTEH ~ IH

THT Al 3T | T 3eT B
(A) =it (B) T
(C) 3T (D) =is &l
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172.

173.

174.

175.

176.

177.

178.

179.

180.

181.

_3?;6@ qen AT BRI Y
(A) € THA T (B) TR

©) U4 (D) SR 9

ot 3 & i 7 97eg e B 7

(A) g1t (B) firer

(C) farem (D) %9

TR T o WRE WS H H ¢ TR &

(A) fogd - w8 (B) 3 - =N

(C) $5a-wg (D) $5d - foa

T A 7 A8 e e ° Fefataa §
YHAATER ?
(A) 31eqd (B) &R

(C) T (D) dTcded

‘IR I8 M HLAT BT, Al 3T T FGL |

S | HR -

(A) TS TAHH T

(B) Gferer | e

(C) 37Ul Heha1ef h1et

(D) 3TYOT YehTel
STfcaTreh |1 T 3GTET &

(A) =X (B) €t

(C) drer (D) 8

qlgd T o AT & &7 915 &

(A) wTEd (B) fireespe

(C) @& (D) HFHR
TR AT T 3ETEWT hiF | § 2
(A) = (B) ié

(C) N (D)

gt g2l T THTER 1 AT HLT 9ieie
(A) == (B) w=Imyd

(C) == O RELI

g T WIS BHT - gtk o7 314 §

(A) UG8 W g8 @ B

(B) S dtE Wie v

(C) S-SRI 31T T

(D) e |TEE B

fmfoiea o & forg T T egm a8 2
(A) M U HU 3T I3 |

(B) afe s qu & g3 ot fver gnft |
(C) SITET ST 8 T Tl SR & ST |
(D) I8 TTeld ShTH hish 3799 AT |

MKP

| 184,

182. FAfRgd e SR A I Hi a7 2
(A) ETH (B) smg%li
(C) Ha=Iih (D) SHaTENH

| (9. 183 ¥ 187) TR H TgHR T T FEH
% I :

183. 3o 3R TUHR &1 W& 7 § W &
I g1 IREeH T8l 8 2
(A) Terar 98 &8 St |
(B) §E@-G:@ 1 37WTel &l ST |
(C) SR T 3Tehl 3T IHST AT |
(D) o 3 firer o foru wrenfea & |

3 SHAEE fea-gil Ta-=AnHl I
H | fe-gft Ta-=g 39 gEE
1 M T TG A7 2

(A) fe 3¢ 31 Td wresrd 2 |

(B) e feeSmm |

(C) fem vt g < |

(D) 3F=e! ceFhl BT |
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185. 37 | Ryl ATeHT el 6T & Tush @, 192. ?}Hﬁwffgﬁﬂwwmm%ﬁﬁ

186.

187.

188.

189.

190.

191.

HHE YAE TSAT R 2

(A) TN GEHH ZRI IHHT TN HTd ¢ |

(B) TR AN UMM S FI AT I & |

(C) AT Hd gL AT 3TE faeheran
1 T H ¢ |

(D) FUT STATeRYT § 9T 3R &=l
o} wETi &1 e ® |

3
(A) IR § IS & HH BT |

(B) 3THe & URYUl 3TeHT ael AT o
forer |

(C)3TC|7-|T13[‘1413[FIF--_'-TI?TI'H?’:[,?:('_(’l'lﬂ'l:l?lE

TR B -—gaf=d o471 o |

ATeh! SR & B T&l WIHT 92T, Ife

(D) Sted § e & SRl 1 fagerso

Exull

ITTRE 1 IUYTH I &

(A) AT SIih

(B) 3T QAT WIS <! T
(C) mmreTiean

(D) Sffed o Jfd ey gfEehi

Torar foreped o 21 9ol STeq TTUT B 2
(A) B, & B) 3,4
(C) =, T (D) 3, 31
frrefofiaa 5 & i &1 e ool T @ 7
(A) dgan (B) e
(C) e (D) e
fafafead g s m sl arg 2
(A) ¥ B) ¥

€ = (D) &

form forenea 4 gyfi oy wafomri 8 2
(A) &, T B) T,
© =,4 (D) d,9

| 199,

| 200,

31

193.

194.

| 195,

i 196.

197.

198.

(A) B, v, TR

(B) =M, ag_ 5&5

(C) o
(D) &, foren

%&rﬁwf{ ‘Integration’ eq <hl HHhET
&t wifonfyes ssc T&t 2 2

(A) THEH (B) AT

(C) wHeH (D) Afeam

Toret Tt 1 T+ s1ec e TaTEE=h & 2
(A) TMGeA, IR, TR

(B) 3Td9H, 3Hd, 3T

(C) MR, HER, TR

(D) wfean, 9, &
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